Name _An_smr Keq Date Mo_d. 7-.

Look at the student work. Correct the work. If the answer is incorrect, show a
correct solution in the space below the student work.

1. Todd has 9 red cars and 7 blue cars. How many cars does he have altogether?

Mary's work Joe's work Len's work
— Q0000
O
g 888%|geeex | | A = 1D -
I S
9+7:=16 9+7:=15 9+7:=16
q+7=1b
N\
\ b
qQ+T=1b
2. Jill has 8 beta fish and 5 goldfish. How many fish does she have in total?
Frank's work Lori's work Mike's work
0 =13
08830.-( xxx 8""5" \ o0 PO\
8+5=13 l.‘r\l:3‘+5=14 8+5=13

5= 13 -
%\ g+5 =
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3. Dad baked 7 chocolate and 6 vanilla cupcakes. How many cupcakes did he bake in
all?

Mary's work Joe's work Lori's work
00000 |3 e ¥ 0 & 6= |3
003 507
3
13=7+6 10+ 3 =13 7+6=13

X XX Y RE-Y-Y-

o0 000

T+ =13

4. Mom caught 9 fireflies and Sue caught 8 fireflies. How many fireflies did they
catch altogether?

Mike's work Len's work Frank's work
>e>e>e>e PP PP )eteee g = |8
x>\ \ooeee 00 g
10+7=17 17=9+8 18=9+8
00000 ]z
o0
1

Q+8=19 q+8=\1

EUR!KA Lesson 11:
MATH
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Name Al l&‘!e! Kﬁy DaTe_MM._Z_

the 10 ones to show what happens in the I ate 9 grapes.
How many grapes

do I have how?

qQAQA0 I

Make a simple math drawing. Cross out from I had 16 grapes.

stories.
Now I have 7 grapes.

1. There were 15 squirrels by a tree. 10 of them were eating nuts. 5 squirrels were
playing. A loud noise scared away 9 of the squirrels eating nuts. How many squirrels

were left by the tree?
©oo0e—e0000

//lD
\5 ©0000
N5

There were é squirrels left by the tree.

2. There are 17 ladybugs on the plant. 10 of them are on a leaf, and 7 of them are on
the stem. 9 of the ladybugs on the leaf crawled away. How many ladybugs are still on

the plant?
©00000—0o0ee0

‘1<<!: o0000 OO

There are _8_ ladybugs on the plant.

Lesson 12: Solve word problems with subtraction of 9 from 10.

EUREKA
MATH
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3. Use the number bond to fill in the math story. Make a simple math drawing.
Cross out from 10 ones or some ones to show what happens in the stories. -

10 There were |3 ants in the ant hill. 7
/ 10 of the ants were sleeping, and _3_more fell asleep,
13 so that all the ants were sleeping.
\ 3 9 of the sleeping ants woke up.
How many of the ants are still sleeping?
Math drawing: 7 v
00006—66660

600

There are I:I ants still sleeping.

4. Use the number bond below to come up with your own math story. Include a simple
math drawing. Cross out from 10 ones to show what happens.

Math drawing:

/ 10 000000060
14 0000

Number sentences:

1-9=5
There are 5 left.

EUREKA Lesson 12: Solve word problems with subtraction of 9 from 10.

MATH
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Name Al§§wel KC¥ Date l\_‘le. 2-

Solve. Use 5-group rows and cross out to show G) | 3 __r_:' ~ u
your work. Write number sentences. CIRO -

o 000

1. Ina park, 10 dogs are running on the grass and 1 dog is sleeping under the tree.
9 of the running dogs leave the park. How many dogs are left in the park?

O -9 =2
OO

OO ® O @

There are ; dogs left in the park.

2. Alejandro had 9 rocks in his yard and 10 rocks in his room. 9 of the rocks in his
room are gray rocks and the rest of the rocks are white. How many white rocks
does Alejandro have?

@ 00000 00000
' 00000 o000 05/ -9 0-0———b-00—0"

D 19-9 =0
0 Alejandro has 10 white rocks.

Lesson 13; Solve word problems with subtraction of 9 from 10. 62
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3. Sophia has 8 toy cars in the kitchen and 10 toy cars in her bedroom. 9 of the toy
cars in the bedroom are blue. The rest of her cars are red. How many red cars

does Sophia have?

o) (%) 18-9=9

Sophia has _9_ red cars.

4. Complete the number bond, and fill in the math story. Use 5-group rows and cross
out to show your work. Write number sentences.

Q 000 0—0 0000 0000
©: u-9-=5
(4

There were JQ_ birds splashing in a puddle and H: ._birds walking on the dry grass.
9 of the splashing birds flew away. How many birds are lef+?

Eu Lesson 13: Solve word problems with subtraction of 9 from 10.

MATH
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Name _Aﬂﬁwﬂr KCLI
10 and subtract. Make a number bond.

Draw anle. Subtract and make a number bond.

2 14-9:= 9

3.12-9:= D

Lesson 14:

EUREKA
MATH
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6. Complete the number bond and write the number 9 _} 2_
sentence that helped you. @ g | —3

a @ o RA Al o o B 1
o ‘+3=q beca:;;";'\‘

b o Y 5 oo
=== ¢

|+4=5

b.
c‘ . snn vooes
d_

=g 00000
L o o T ) o

|+ b=

7. Make the number bond that would come next and write a number sentence that
matches.

Q) eeoee eSO
@ O 1+ 1= e

Lesson 14: Model subtraction of 9 from teen numbers. 67
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Name Amnr_\&:q sere MAOdUNe 2

Werite the number sentence for each 5-group row drawing.

1,
-5-0-666—096S0 000 13-9-4

-©66e6—oo0000 00000 O _l_b-q.?--'

©6666—00000 00000 0000 lq -CI'-'-' 'O

©0000—60660 00000 00 l"— q: %

6-60660—666060 00000 000 ‘%—q= q

o600—60660 0000 | Jq-q:'s

Draw 5-groups to complete the number bond and write the 9- number sentence.

O
@9 00000
> (173

O

9 e o0000 o0 ,

Lesson 15: Model subtraction of 9 from teen numbers.
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A

~

O

00000 o

L

Draw 5-groups to show making ten and taking from ten to solve the two number
sentences. Make a number bond and write two additional number sentences ‘_rha‘r would

have this number bond.

5. 8+9=_‘J_
—:—:—:—:-:)::ooo
1,
@DE

q+<= 17
$+9=11

6. 17-9=1

600600—66000
00000 00O

o
@E

EUREKA Lesson 15 Model subtraction of 9 from teen numbers.
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Name _Aﬂﬁmr Kﬁy ‘_ DaTe_M_Qd-_Z-

Complete the subtraction sentences by using either the count on or take from ten
strategy. Tell which strategy you used.

1 10-q v |
1 17-9:_8_ ex H...?..g Makefr'om‘ren
(e-ee00—ce600) 00000 ©O ] count on

2. 12-9=_a_ CX'-@ 10 3 lz D’rakefrom ten
q +3 - ‘2_ Ercoun‘ron

Dio-9=| ,
3.}&-9:1 2) l+b =1 B"rakefr'om’ren
I0 b [[] count on

4 11-9 =* 2 eX"@ 10 | \ D take from ten

q-|-2_ - I\ E/coun’ron

5. Nicholas collected 14 leaves. He pasted 9 into his notebook. How many of his leaves
were not pasted into his notebook? Choose the count on or take from ten strategy

to solve.
+nke ‘R'om +eh3 % N q E I chose this strategy:

r_',gt"q* - D take from ten
I+ s5 Dcoun‘ron
Count Oh: @ o n 1213 M o |4-9= 5
EUR!KA Lesson 16: VReIatercounting on to :r;n;king ta:n ;n; taking from ten: 75
MATH
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6. Sheila had 17 oranges. She gave 9 oranges to her friends. How many oranges does
Sheila have left? Choose the count on or take from ten strategy to solve.

Igﬁk:‘ H ';\’ - q = E 10 - q i I chose this strategy:
1o 0 1 w [[] take from ten
D count on

7. Paul has 12 marbles. Lisa has 18 marbles. They each rolled 9 marbles down a hill.
How many marbles did each student have left? Tell which strategy you chose for
each student. :

Paul = count on Lisa - 18— =

= - -9 =
A+ 3,212 /I\8 kL 1+ 8=

12.-9= 3] 10 8
Paul has 3 marbles left. Lisa has l marbles left.

8. Just as you did today in class, think about how to solve the following problems and
talk to your parent or caregiver about your ideas.

115-9 17-9
[5=
‘14-9 16 -9

Circle the problems you think are easier to solve by counting on from 9. Put a rectangle
around those that are easier to solve using the take from ten strategy. Remember,
some might be just as easy using either method.

|
q

§

Lesson 16: Relate counting on to making ten and taking from ten.
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wne AnOWEr Key sare_Mod. 2.

1. Match the number sentence to the picture or to the number bond.

13 10-7=3
a 13-7:= 6 /\
10 3 3+3=6

b 16-8: B jr##*#%%a##ﬁﬁk

11-8= 3 13 10-8=2
\
10 3 2+3:=5

o8- D VY]
AV IRY,

o

o

2. Show how you would solve 14 - 8, either with a number bond or a drawing.
8605606 6600 l'—‘ --8 ID—8=2_
N

0000
-8 =(, or D 2+4 =b

10. Then subtract. l."' - 8 = ﬁ—-

3. Milo has 17 rocks. He throws 8 of them into a pond. How many does he have left?

e ST T OO
Ts=0O O OO

Milo has q rocks left.

Lesson 17: Model subtraction of 8 from teen numbers.

EUREKA
MATH
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Draw and 10. Then, subtract.

4. Lucy has $12. She spends $8. How much money does she have now?

C

o0 o0

'Z B 8 - L‘. Lucy has $_LL now.

Draw and@o, or use a humber bond to break apart the teen number and subtract.

5. Sean has 15 dinosaurs. He gives 8 to his sister. How many dinosaurs does he keep?

ooooo I5-¢ 0-&=2
#9600 A 2+5:=17
U,ﬁ 05 > |
|5 "8: 7 Sean keeps_-"_dinosaurs.

6. Use the picture to fill in the math story. Show a number sentence.

9SS0 VOO O®
2 2 2 1 JER 4 1

Olivia saw l 8 clouds in the sky. Try itl Can you show how to solve
8 clouds went away. How many this problem with a number bond?
clouds are left? ‘ 8

N\
|8"'8-’-‘ 10 o &

Lesson 17: Model subtraction of 8 from teen numbers. 80
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Name _A_n_sw eY' Ke# Date _MQd . _Z_.

Draw 5-group rows and cross out to solve. Write the 2+ addition sentence that helped
you add the two parts.

1. Annabelle had 13 goldfish. Eight goldfish ate fish food. How many goldfish did not

eat fish food? A
coeee- 0000 | 000 12 — 8= 5
6}
2 + 3= 5

5 goldfish did not eat fish food.

2. Sam collected 15 buckets of rain water. He used 8 buckets to water his plants.
How many buckets of rain water does Sam have left?

Igeeee- oooo;lowoo 15-8="1
Z+5 =7

Sam has 1 buckets of rain water left.

3. There were 19 turtles swimming in the pond. Some turtles climbed up onto the dry
rocks, and now there are only 8 turtles swimming. How many turtles are on the dry

~ rocks? 7 -
IE-O'G-&O—'O'OOOO 00000 0000 50 \q - 8 - \ \
2+ 9=\ ~

There are l ‘ turtles on the dry rocks.

EUREKA Lesson 18: Maodel subtraction of 8 from teen numbers. 84
MATH
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Show making ten or taking from ten to solve the number sentences.

4, 7 '5 B. A5-8: 1
5 o 5

10-83s 2

| 2¢8§°% 9

Find the missing number by drawing 5-group rows.

o

+1

6. 11-9:z 2 ; 14-9: D

eooee—eeee0| © WO ©000
141 =2 l"“L\:S

8. Draw 5-group rows to show the story. Cross out or use humber bonds to solve.
Write a number sentence to show how you solved the problem.

There were 14 people at home. Ten people were watching a football game. Four
people were playing a board game. Eight people left. How many people stayed?

[eeeee—ses00 | 4 -8 10-8=2

0000 ‘0/}* 244 :0
¢ -8=

4-8:6 = 4-8=0

b people stayed at home.

Lesson 18: Model subtraction of 8 from teen numbers. 85
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Name Al ls !! c! Kcy Date N!Qd . 2-

Complete the subtraction sentences by using the take from ten strategy and count on.

12113 |14 | 15116 |17 (18 |19 |20

1 a12-8=_4 b8+ Y4 =12
/\

102

0-822 2%2 sy

2.0.156-8=_] b 8+_1 =15
o 5
i0~-8=22 24537
Choose the count on strategy or the take from ten strategy to solve.
3. 11-8=_9 I |D"8"2

Count ‘ N 2+1z
on ° @ q,10,1 o ! - s E]

4, 17-8=_1 l_' _g |0’8=z-

N +1:=9
Count @) a,0,0,12,13, 8, oY 2 @
4, 15, 16, 17 17-8 =
EUREKA Lesson 19: VCompare efficiency of counting on and taking from ten. 91
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Use a number bond to show how you solved using the take from ten strategy.

5.

Elise counted 16 worms on the pavement,
Eight worms crawled into the dirt. How
many worms did Elise still see on the o

pavement? °°
16 -8 = 8

N
o b
Supiract § from 10,
2 and & make g -

Elise still saw 8 worms on the pavement.

John ate 8 orange slices. If he started with 13, how many orange slices does he

have left? jO "8 s 2
13 -8 2+3:= 5

N
IO 3 John has 5 orange slices left.

7.

Match the addition number sentence to the subtraction number sentence. Fill in the
missing numbers.

a 12-8= q' 4 8+ & =11

b. 15-8= __,
8+ lo =18
c. 18-8=_10 v
8+ _ 8 = 12
d 11-8-=
gr_1 =15
EUREKA Lesson 19: Compare efficiency of counting on and taking from ten.
MATH
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name _ANSWEr Kﬁy

Complete the number sentences to make them true.

115-9:= b 2. 15-8=_"]
A A

Date Mh)“ . 2-

3.15-7+= 8

N
105

g -©0000—00080 O000D v —rrin el Treee—i0 0t aeee

4. 17-9:=_§ 5. 17-8=_94 6. 17-7=__ |0

oY ([ | 0"y

7./1\6-9= { 8'1\?-8= 8 9. 16-7-= l

10 © 10 b 10

10.19-9:= |Q 1. 19-8= || 12. 19-7 = !2-
A A N

0 9 0o 9 10 9

13.  Match equal expressions.

a. 19-9 ><12 -7

b. 13-8 18 -8
| E“u“R’Evk‘AT”:AMTLejsson 20: Subtract 7, 8, and 9 from teen numbers.
MATH
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A
10 7

14, Read }'\rhe math story. Use a drawing or a number bond to show how you know who
is right.

a. Elsie says that the expressions 17 - 8 and 18 - 9 are equal. John says they are
71 not equal. Who is right? ls —‘I l? -q = q
247 = 9 30% | _

o-8:2 11-8:q (027!

1+¢8:29
b. John says that the expressions 11 - 8 and 12 - 8 are not equal. Elsie says they
are. Who is right?

O Rt N N

A

o)

1

c. Elsie says that to solve 17 - 9, I can take one from 17 and give it to 9 to make
10. So0,17-9is equal to 16 - 10. John thinks Elsie made a mistake. Who is

correct? o - 10 Ib-10= b
I7-9 10-9=1 )} A
Itq9=g8 JIo6
-0 %0
i179-9= io IO.
1=8] o+b° b
d. John and Elsie are trying to find several subtraction number sentences that
start with numbers larger than 10 and have an answer of 7. Help them figure
out number sentences. They started the first one.
Answers ctan vary
\'1-10=17 15-8 =71
EUREKA | = somcosmosioneemmmes o
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